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567686 9:;< =;= >?@ ABCD E FGHI
vBx = vBy = 0 J
vBz = [−128,−127,−126,−125] J
A(4, 0, 2) # B(0, 0, 4) # C(2, 4, 3) # D(3, 2, 0) #

567686 9:;< =K = L FIHMNOCD PMNQ
vBx = vBz = 0 J
vBy = [−48,−47,−46,−45] J
A(4, 0, 1) # B(0, 0, 2) # C(0, 2, 1) # D(3, 1, 0) #

567686 9:;< =R = L FIHMNSAGOC E FGHM
vBy = vBz = 0 J
vBx = [−12,−11,−10,−9] J
A(1, 0, 3) # B(0, 0, 2) # C(0, 2, 3) # D(3, 1, 0) #

567686 9:;< =T = U VCW CD XAW VAY
vBy = vBz = 0 J
vBx = [−4,−3,−2,−1] J
A(1, 0, 2) # B(0, 0, 4) # C(0, 2, 2) # D(1, 5, 0) #

567686 9:;< =Z = [ \OCD >G]W AY
vBx = vBy = 0 J
vBz = [−64,−63,−62,−61] J
A(4, 0, 2) # B(0, 0, 1) # C(2, 4, 1) # D(3, 4, 0) #

567686 9:;< =^ = P DFGCDF E FW NQ
vBy = vBz = 0 J
vBx = [−90,−89,−88,−87] J
A(2, 0, 2) # B(0, 0, 2) # C(1, 5, 2) # D(2, 1, 0) #

567686 9:;< =_= ` C@ aFGAAb ` HW HMM
vBx = vBz = 0 J
vBy = [−35,−34,−33,−32] J
A(1, 0, 1) # B(0, 0, 3) # C(2, 5, 3) # D(3, 4, 0) #

567686 9:;< =c = dDSFW AGOC eMNQGF
vBy = vBz = 0 J
vBx = [−64,−63,−62,−61] J
A(2, 0, 2) # B(0, 0, 4) # C(0, 4, 1) # D(2, 2, 0) #

567686 9:;< =< = f ABW HSAGOC UMHgFDABF
vBx = vBz = 0 J
vBy = [−8,−7,−6,−5] J
A(2, 0, 4) # B(0, 0, 1) # C(1, 2, 2) # D(3, 4, 0) #

567686 9:;< =;h = iFgFGFGHW HGF iFG]H
vBx = vBz = 0 J
vBy = [26, 27, 28, 29] J
A(1, 0, 1) # B(0, 0, 4) # C(3, 2, 2) # D(1, 5, 0) #

567686 9:;< =;;= XO\M CDF f CMHGF
vBy = vBz = 0 J
vBx = [3, 4, 5, 6] J
A(1, 0, 4) # B(0, 0, 2) # C(2, 3, 3) # D(3, 5, 0) #

567686 9:;< =;K = j HW COCD >M AOIFG]W
vBx = vBy = 0 J
vBz = [−70,−69,−68,−67] J
A(2, 0, 4) # B(0, 0, 2) # C(2, 5, 2) # D(3, 4, 0) #



567686 9:;< =;R = kk
vBy = vBz = 0 J
vBx = [−200,−199,−198,−197] J
A(4, 0, 3) # B(0, 0, 4) # C(0, 5, 4) # D(2, 5, 0) #


